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Worksheet 1

Write the numbers from 3589 to 3598.
Skip count in tens.
4500,

Skip count in hundreds.
67001 t) t) b b} t) L) t) t) 3

Find the place value and the face value of 4 in 6024.

Write the number name for the number 7913.

Which number is greater: 4983 or 79837 Explain with reason.

Arrange the numbers in ascending order: 6198, 6125, 6133, 6146, 6172.
Write the even numbers from 2070 to 2090.

Write the largest 4-digit number using only odd numbers, without repetition.
What is the number between 8809 and 88117
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Worksheet 2

Write the numbers from 4693 to 4702.

Skip count in tens.

6280, , , , , , , ) ; ,
Skip count in hundreds.

7900, , , , , , ) ; ) ,
Find the place value and the face value of 9 in the number 2913.

Write the number name for the number 5024.

Which number is greater: 3091 or 30897 Explain with reason.

Arrange the numbers in descending order: 5048, 5046, 5045, 5047, 5049.
Write the odd numbers from 3151 to 3171.

Write the smallest 4-digit number using only even numbers, without repetition. Do
not include zero.

What is the predecessor of 90997



Answers to Worksheet 1
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3589, 3590, 3591, 3592, 3593, 3594, 3595, 3596, 3597, 3598
4500, 4510, 4520, 4530, 4540, 4550, 4560, 4570, 4580, 4590, 4600
6700, 6800, 6900, 7000, 7100, 7200, 7300, 7400, 7500, 7600, 7700
Place value of 4 is 4. Face value of 4 is 4.

Seven thousand nine hundred thirteen

7983 is greater than 4983 because when both numbers have the same
number of digits, we first compare the digits in the thousands place. 7 > 4.
Hence, 7983 > 4983.

6125 <6133 <6146 <6172 <6198

2070, 2072, 2074, 2076, 2078, 2080, 2082, 2084, 2086, 2088, 2090
9753

8810

Answers to Worksheet 2
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4693, 4694, 4695, 4696, 4697, 4698, 4699, 4700, 4701, 4702

6280, 6290, 6300, 6310, 6320, 6330, 6340, 6350, 6360, 6370, 6380
7900, 8000, 8100, 8200, 8300, 8400, 8500, 8600, 8700, 8800, 8900
Place value of 9 is 900. Face value of 9 is 9.

Five thousand twenty-four

3091 is greater than 3089. Both numbers have the same number of digits,
and also the same digits in the thousands place and hundreds place. So we
compare the digits in the tens place. 9 > 8. Hence, 3091 > 3089.

5049 > 5048 > 5047 > 5046 > 5045

3151, 3153, 3155, 3157, 3159, 3161, 3163, 3165, 3167, 3169, 3171
2468

9098





